Revision – Inequalities and equalities.
Remember these signs?   <   >   =
Think of the first two as the mouth of a crocodile. The crocodile will always want to eat the bigger amount.
Example
76 > 67               10 + 3 < 6 x 4           7 + 8 = 3 x 5
Put the correct symbol in between these calculations.
	3 x 7
	
	9 + 13

	6 x 8
	
	4 x 11

	32 ÷ 8
	
	24 ÷ 6

	19 + 14
	
	12 x 3

	50 – 26
	
	4 x 6

	17 + 18
	
	9 x 4

	12 + 19
	
	16 x 2

	50 - 35
	
	5 x 3



A bit harder – remember that 32 means 3 squared or 3 x 3
	8 x 7
	
	101 - 46

	29 + 39
	
	82 (8 squared)

	96 ÷ 8
	
	51 -38

	122
	
	86 + 58

	132 ÷ 11
	
	60 ÷ 5

	163 - 129
	
	0.5 x 64

	92  = 19
	
	62 + 82
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